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UwqGhuwluw nupund pupdytihu pwGh® wliqud £ wnwohG dwulGhyh piwynijup dko
tiplpnpn dwuGhyh hdwnijuhg:

Nppw”G t tpypnpn SwuGhyh yepoGuyu b wpwgnipyniGp: Muwunwufuwbn
puqiwwywnltp 10 %-ny:

Nppw”G & wnwohG dwulGhyh ytpgGulwl wpwgnipniGp: Muwnwufuwbp
pwqiwwywwnltip 1072-n11:
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(59-61) Ulpwpd Swjuwpwlh ypwyny qgyud phh dwjptphg juwiugwo L tpyne pin’
Jutpwpwlsnipp 1 Yq qubguony: RtnGhphg Wklh Yypw npdwo k0,5 g qubqiuony
dwpihG: Uygpnid hwiwljupgp wuwhmd 6 nununph yhdwynid, wyGnihtnl pug GG
pan(nui: Gwluwnpwyh b ptith quiquéttpp L thnuil wGntut): Uqun wilydwb
wnwqugnuin 10 70l

59 Nppw”G t pinGtiph pwpdiwG wpwqugniip:

60

h®Gs nidny £ dwpdhGp pupddwG pGpugpnid dGpmud pinh Ypuw:

61 Nppw”a t phh jupiwG nudn:
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(62-65) F, =20 ud L F, =40 ud yhquytwnwjhG htnwynpmpym GGtpny hwywpnn pupuly

62

63

64

65

nuw GyulGtnp, npnGg gifuwynp owymhljwljw G wnwlgpltnp hwipGyGmy 6, qubiynid
tG hpwphg b =15 ¥ htinwdnpnipjwG Ypw: Unwohl nuwyGyulh wnglny, Gpwbhg

d, =25 ud htinwynpoipjw Ypw, mnunpjusd & h =2 v pupdpmpjudp wownlwd:

Unwohl nuwGjuyhg h°Gs htnwynpmipjw ypw Junwgyh wnwpluwjh wuwnybp wyn
nuy Gjuynud:

Gnlpnpn nuuyGyuyhg h®G; htinwynpmpjwb ypw junwgyh wnwpljujh guwnybpp
nuy GjuyGtph hwdiwljwpgnud:

Nppw®G YhGh wuwwnybph pwpdpnipniG6 wnwohl nuw Gyuynid: Mwwmwufuwbp
pwqiwwwwnlyby 102—nq:

Nppw”G YhGh yuwwmytinh pupdpnipynilp nuy GyuyGiph hwiwupgnud: Muunwufuwln
pwqiwywmnlyby 102-n11:
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(66-69) QtiniwyhG vhptlwjh quubnid 1 ¥n; Shwwnmnd hnbwjwlw6 P

66

67

68

69

quqgh htin pGpwgnn wynngtup wuwnybpywo t GY. 2-nud: 4-1

L 2-3 wypngtiuGtinG hgnfunp GG, huy 1-2 b 3-4 wpngtuGhpp
hanpwp: {wywnGh t, np T4=300 b4, T,=500 4, T3=400 4:

Q-wqujhG niGhytpuwy hwumwnnmGn 8,3 /8n-U t: 4

0
vl 2

Lwlh® wiqud t qugh GGynuip 2 Jhdwynid ko 4 Jhdwynid qugh 6Gpnidhg:

Muuwufuwlp pugqiuwwmnlby 102-n1{:

Nppw®G £ qugh otipdwumph@wGp 1 JhGwynud:

Uty ghYyih pGpugpnid 9tinnigshg unwgwo ghipdwpwlwyp pwGh® whiqud b uko
utiptiiwjh juunwpwo w2 fuwwnwiphg:

h*Gs oipdwpwGwy £ dtipthGuwl mwihu vwnGuwpwGhG ¥ty ghyih ppugpnid:
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70

C niGwlynmpjudp hwunp onwjhG YnGntGuumnnpp shugynid t U jupdiw G hwumwnnt G
hnuwGph wnpymphG: {wunwwntp Yuwd dlunbtp htnlyw] winndGhpp:

1.

AN LN B~ W

CnownhnpGtiph dhol htinwynpnipjnilp thnppwgGtjhu ngupwh jupuwonipyniln
yutiowGw:

CpownhpGtinh dhol nhtjtywmphy dngGtjhu EEyunpuyui nu)wmh EGipghwG
YthnppwGuw:

. UnlinGuwwunph phptnGtph dthol untindywo Lihyupuwjuwl nu)up hwiwubin k:
. UnGntGuwwmnph phptinGtph wpmwphG dwund nuup pugwjuynd k:

. Cpownhnltinh vhol htnwynpnipjnilp dtowgGbihu jupnuin YthnppwGw:

- CpgunphpGtiph dpol nhkjtinphyy dngGtijhu 2pewnhplbtiph thgpp Yutow Guw:
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